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(nstructions ¢ (1) All questions are compulsory,

(2)  The symbols have their usual meaning,

(3) Figures on the Ri glﬁ Hand Side show marks.

1. (A) What would be the output resistance of an ideal
necessary formula and circuit. How one can d

Qﬂain it with
utput resistance of an

amplifier ? s .
OR :
What is harmonic distortion ? al points method of calculating
harmonic distortion for amplifi itude A, A, and A, 7
(B) What is Decibel ? EXpl" reference level. Give characteristics of ‘
decibel. Derive dB +101log [E_i.] _ ;
. - R,
OR
Explain h er can be used as a decibel indicator in detail. 7
ra uit diagram of tl;ree cascaded stages of CE amplifier and derive the
ation for voltage gain. 7
OR
Explain the effect of emitter bypass capacitor on low frequency response of CE
amplifier. | L
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(B) Explain about hybrid 7 capacitance, basc spreading resistance and transistor

transconductance. 7

OR

Describe amplifier’s high [requency response (0 a squarc Wave. 7

3. (A) Explain two input EX-OR gate in detail. Draw only circuit diagram of three in»

and four input EX-OR gate. ' \
OR

Derive simplified Boolean equation using Karnaugh map for the l@

expressed in mini terms y = Zm(0, 1, " S

Draw the corresponding sum of product logic circuit :
(i)  Using basic logic gates (OR and AND)

(i1) Using only NAND gate

(B) Explain in detail RS flip-flop. 7
"

Write a note on JK flip-flop.

4. (A) Explain the method t’ e twork into equivalent © network and vice-
ula.

versa by deriving ne 7
OR
State and um Power Transfer” theorem. 7
(B) e ce,ZL=R+] [mL ———%J of the series resonance circuit, derive
®
for impedance Z =R {1 + jQ3&(2 — &)} for small deviations from the
son equency. 7
OR

Describe parallel resonance circuit in detail. Derive equation of f,  and obtain

d ;
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§ Answer any seven questions : (Eacly

uestj
question of 2 marks) : 14

(1) Anamplifier has

a signal i *
shal nput vol(age Vi 0f0.25 V and draws 1 mA current from
the source. The amplif;

er deliver
. ‘ 'S 10 Viog load at 10 mA. Determine the current
gain, voltage gain ang Power gain

(2) In a five point method, dilfer e o 2 '
ent harmonic distortions are D, = 3.26%, D, ‘

= 1,049 ' '
04% respectively. Find total harmonic distortion D. ' \

(3) The power gain of an amplifier is obtained 30 dB. If the output power is t,
calculate the input power.

(4) Calculate the lower 3 dB frequency to reproduce 100 H

more than 10% sag.

2.17% and D4

ve with not

(5) Why.is it that the total voltage gain of a

stage voltage gain, but the total current

current gain ?

ifie e product of all the

roduct of all the stage

(6) Name the methods to cascade C
(7)

(8)

nplified logic circuit as much as possible using Boolean algebra.

. ) arnaugh map ? How many entries are there on a four variables

augh map ?

(10) Inannetwork Z, =Zg=2c= 6 Q. Find T equivalent network.

(11) In T-network Z; = Z,=2;=4Q. Find equivalent m-network.
' PO
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(12) For a given T-network |
10Q 10 Q) ;

|

Find the value of Z,, and Z g
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